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] T F ol R K| OB | 155 | 15~645% | 655RLAL
“ 5 19,499 | 61,621 | 30,683 | 30,938 | 12,017 | 43,044 6,560
PN F 42 2,016 1,023 993 232 1, 405 379
" 03 155 529 252 2117 63 352 114
il it 94 306 155 151 35 211 60
R i 17 73 36 37 9 43 21
X T ® — T B 173 516 248 268 100 382 34
A F ® = T H 191 62T 304 323 107 476 44
A F ® = T BH 285 874 431 443 166 642 66
A F # m T H 280 957 467 490 165 12 80
v ] 208 696 | 356 340 91 464 141
7N K 1,227 3,621 1,843 1,718 565 2,519 537
MmN B R OK 0 0 0 0 0 0 0
MNoF o — T B 189 643 326 317 91 504 | - 48
N o# o = T H 61 188 95 93 45 124 19
N = T B 4 269 134 135 42 211 16
Moo A T B 169 570 282 288 84 429 57
" N A S R = 119 407 191 216 55 308 44
N E M — T B 188 658 327 331 110 482 66
Mo E M - T B 1 246 129 124 97 148 1
N E M = T H 131 432 213 219 97 305 30
hNH KM T —TH 136 463 232 . 231 82 354 27
MNHWH KM F T H 124 455 229 226 103 335 17
NH A M F=TA 94 392 156 166 93 291 g
X #* 1,923 5, 349 2,637 2,712 632 3,633 1,084
i3 2 60 229 114 115 18 161 50
) 29 59 at| 98 13 29 127 55
¥ 1 123 407 213 194 52 264 91
Vi g 7 22 1 1 2| 17 3
& il Al 15 48 24 24 3 33 12
v # 260 962 495 467 103 612 247
WO &~ #H H X X X X X X X
= i 56 216 11 105 2 148 46
H % # M 33 90 49 41 12 57 21
= i} it H 11 15 10 5 1 12 2
N a 41 146 1 75 21 100 25
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1) T <2 o HE W R R K % Z 155 | 15~6475% | 655REA L
N A & — T B 665 1,990 978 1,012 455 1, 415 120
N B B = T H 422 1,317 694 683 415 915 47
N\ B = T H 457 1,584 192 792 445 | 1,072 67
N A B @ T H 404 1,315 682 633 323 931 61
Fn R 7 308 161 147 24 204 80
X &% = T B 83 249 120 129 49 169 31
w o A F — T H 98 308 147 161 29 248 31
A N - T H 268 952 478 474 206 702 44
A N = T B 398 1, 425 683 | - 742 278 1,073 14
A M = T H 203 650 316 334 49 551 50
A AN m T H 401 1,309 627 682 122 1,059 128
A N H T H 169 565 284 281 83 424 58
A N X T B 291 1,011 491 520 194 114 43
= A 72 280 135 145 37 172 11
R EA-TH X X X X X X X
2l o 56 929 119 103 30 136 56
iR B 175 609 319 290 89 383 137
/N i3 150 564 290 274 84 348 132
1 & F 54 209 104 105 24 133 52
% X ) 2] 18 67 35 32 10 38 19
wn % — T H 713 1,959 | 994 965 408 1,353 198
W OB = T B 1,005 2, 837 1,419 1,418 566 2, 046 225
W B = T B 124 141 63 18 6 135 0
Bl - T B 214 672 337 335 177 439 56
Bl T H 564 1,821 883 938 494 1,250 17
B oo = T B 575 1, 847, 896 951 404 1,310 133
m % - T B 401 1,330 652 678 384 855 91
m # =— T B8 230 651 336 315 194 445 12
& £ = T H 98 321 163 158 73 206 42
& £ m T H# 473 1,568 790 118 318 1,149 101
m & #H T H 291 975 499 476 147 720 108
®m & AN T B 509 1,728 861 867 279 1,270 179
B 7 393 | 1,408 687 791 176 995 307
oo K — T B 299 1,016 498 518 321 660 35
i ORI T H 297 967 474 493 293 648 26
" oo B = T H 31 2,485 | 1,247 1,238 857 1,585 43
I = T H 249 13 380 393 279 484 17
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=4 T 5217 1,438 729 709 361 942 135
2 31 119 59 60 13 78 28




